
11 êëàññ Ôóíêöèîíàëüíûå óðàâíåíèÿ 25 ìàðòà 2019

1. Íàéäèòå âñå ôóíêöèè f : R→ R òàêèå, ÷òî äëÿ âñåõ x, y ∈ R âåðíî

à) f(x2 − y2) = (x− y)(f(x) + f(y));

á) |f(x)− f(y)| 6 2019(x− y)2;

â) f(x) + f(f(x)− y3) = f(x2 + y);

ã) f(x2 + y) = f 2(x) + f(y);

ä) f(xf(x) + f(y)) = f 2(x) + y;

å) f(f(f(x)) + y) = f(f(y)) + x;

¼) f(y + f(x+ f(y))) = x+ 2y + 3;

æ) f(x) · cos(x− y) 6 f(y);

ç) f(f(x)− y) = f(x) + f(f(y)− f(−x)) + x;

è) f(x2 + f(y)) = f 2(x) + y;

é) f(f(x)f(y)) + f(x+ y) = f(xy).
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